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( 1. For a linear demand curve
a. the price elasticity of demand is constant for all values of P and Q.
b. the price elasticity of demand decreases (becomes more negative) as Q increases
and P decreases.
c. the price elasticity of demand increases (becomes less negative) as (J increases and
P decreases.
d. None of the above,
( )2. If more and more labor is employed while keeping all other inputs constant, the
marginal physical productivity of labor
a. will eventually decrease.
b. will eventually increase.
c. will eventually remain constant.
d. Cannot tell from the information provided.
( )3.A firm’s isoquant shows
a. the amount of labor needed to produce a given level of output with capital held
constant.
b. the amount of capital needed to produce a given level of output with labor held
constant.
¢. the various combinations of capital and labor that will produce a given amount of
output.
d. None of the above.
{ ) 4. Two goods, X and ¥, are called complements if
a. an increase in P, causes more ! to be bought.
b. an increase in P, causes less Y to be bought.
c. an increase in P, causes less ' to be bought.
d. an increase in income causes more of both X and ¥ to be bought
( )5. If goods X and Y are substitutes, then the cross price elasticity of demand
between them will be
a. positive.
b. negative.
C. zero.
d. infinity.
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